
Műszaki matematika puska

∫
xαdx =

xα+1

α+ 1
+ C, (α 6= −1),

∫
1

x
dx = ln |x|+ C,∫

cosxdx = sinx+ C,

∫
sinxdx = − cosx+ C,

∫
1

cos2 x
dx = tg x+ C,∫

1

sin2 x
dx = − ctg x+ C,

∫
1

x2 + 1
dx = arctg x+ C = − arcctg x+ C,∫

1√
1− x2

dx = arcsinx+ C = − arccosx+ C,

∫
exdx = ex + C,

∫
axdx =

ax

ln a
+ C .

L[f ](p) :=

∫ ∞
0

f(x)e−pxdx, L[eaxf(x)](p) = L[f(x)](p− a), L[xf(x)](p) = −L′[f(x)](p), L[xn](p) =
n!

pn+1
,

L[cos ax](p) =
p

p2 + a2
, L[sin ax](p) =

a

p2 + a2
, L[y′] = pL[y]− y(0), L[y′′] = p2L[y]− py(0)− y′(0),

∞∑
n=1

1

np
<∞ ⇐⇒ p > 1,

∞∑
n=0

xn =
1

1− x
⇐⇒ |x| < 1, (1 + x)α =

∞∑
n=0

(
α

n

)
xn ⇐⇒ |x| < 1,

∞∑
n=1

(−1)nan ≈
k−1∑
n=1

(−1)nan ,
∞∑
n=1

an ≈
k−1∑
n=1

an +
1

2
ak +

∫ ∞
k

f(x)dx.

f̃(x) = a0 +

∞∑
n=1

(an cosnx+ bn sinnx) , a0 :=
1

2π

∫ π

−π
f(x)dx,

an :=
1

π

∫ π

−π
f(x) cosnxdx, bn :=

1

π

∫ π

−π
f(x) sinnxdx

z = x+ iy, f(z) = u(x, y) + iv(x, y), u′x = v′y, −u′y = v′x, u′′xx + u′′yy = 0∫
L

f(z)dz =

∫ β

α

f(z(t))z′(t)dt

f(z) =

∞∑
n=−∞

cn(z − z0)n, cn =
1

2πi

∮
γ

f(z)

(z − z0)n+1
dz, c−1 =

1

2πi

∮
γ

f(z)dz.

ck :=
1

2π

∫ π

−π
f(x)e−ikx dx, f̂(x) :=

∞∑
k=−∞

cke
ikx, F̂ (ω) :=

1√
2π

∫ ∞
−∞

f(x)e−iωx dx


